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Higher Prelim Revision 5 Paper 1 Marking Scheme - Section B
Givel mark for each e [llustration(s) for awarding each mark
21(a) ans. P(2,4) (4 marks)
1 N dy
e~ knowsto make derivative equal to O v =
X
o2 finds derivative ‘;—y —=6x-3x° =0
X
o3 solvesfor x 3X(2-X) =0, x=0, 2
o* gates coordinates of P P(2, 4)
(b) | anss Q(-1,4) (83 marks)
ol knowsto equate functions X2 -x3=4
o?  uses app method to factorise expression evidence leading to (Xx—2)(x—2)(x+1)
o® solvesand states coordinates of Q Q(-1,4
© | ans 62units’ (6 marks)
ol knowsto useintegration [
e? uses correct integration _213x2 — x3dx
— 4 2
o® integrates x> — XZ}
L -1
o* subsvalues (2)° - (Zj } {( 1)°- =D }
o> evaluates ;8 4) (- 1__) 4412 -5l
4 4
¢° subtracts from 12 to answer 12— SZ = 6% units’
22(a) ans. p=1,9=-4,r=3 (4 marks)
o' substitutes f(g(a)=(2-a)%-1
¢ multiplies out and reorganises 4-4a+a’-1=a’-4a+3
o gaesvaluesof p, qandr p=1q=—4,r=3
o' gaesvaluesof p, qandr award 1 mark for any two correct and
1 mark for third value correct
(b) | ans a=5 (2 marks)

eguatesto 8, reorganises and factorises

s0lves and chooses correct value for a

a’-4a+3=8a’°-4a-5=0
(a-5@+1)=0
a=5




Givel mark for each e

[llustration(s) for awarding each mark

23 ans. A (E’ 1 (4 marks)
12 2
1 . . 1 . 1 . 1
e~ equatesline & curve, reorganises ° S|n2x+1:5;sm2x:—§
o2 finds values for 2x o’ 2x=%r, %
o3 findsvalues for x o x=7—”, iz
12 12
o* dates coordinates of A o' A (&, 1
12 2
24(a) | ans. 60 (2 marks)
o' knows how to find limit o' L= 24
1-0-6
o> movestermto LHS and divides e’ 60
(b) | ans 10 (2 marks)
o' makesRR equal to 30 o' 0.6U,+24=30[stated or implied]
o® solvesfor Ug > 0.-6Uy,=6,U,=10
2
(© ans. a= E; b=36 (3 marks)

o' subsfor b and finds expression for limit

o® equates limit to 60 and solves for a

e3> findsvalueof b

o' U,,=aU,+90g L:lgia
o2 I _ 65 60-60a-90a azé;

° b=90x2=36
5

w




Higher Prelim Revision 4 Paper 2 M arking Scheme
Givel mark for each e [llustration(s) for awarding each mark
1(a) ans. k=6 (2 marks)
1 knowsto substitute point (0+4)%2 +k? =52
o® edablishes value of k k=6
(b) | anss y=-2x+6 (4 marks)
o' finds coordinates of C; C(-4,0)
2 finds gradient of radius mep=2=3
o® findsgradient of tangent Mean — 5
o' substitutesinto formula y=—2x+6
(©) ans. Cy(9,0) (1 mark)
o' subspoint, solves for x and states point 0=—-2x+6; x=9; (9,0)
(d) ans. 2-2units (83 marks)
o' findsradius C; circle radiusC, = 7-2
o2 finds distance between centres C,C,=13
o® esablishesd d=(72+8)-13=22
2 ans. 90° 199-5° 340-5° (5 marks)

subs for cos 2x°

multiplies and simplifies
factorises

finds two solutions
finds third solution

3(1-2sin® x°) + 4sinx°—1=0

—6sin®x°+4sinx+2=0
2(3sinx® +1)(sinx° —1) = 0

sinx®=—1; x=199.5° 340-5°
snx° =1 x=90°




Givel mark for each e

[llustration(s) for awarding each mark

3@ | ans y=x%2+8-4 (4 marks)
o' knowsto integrate o y=[2x-Sdx
o’ integrates o’ y= x2+§+C
o® subspoint o 3=2°+8+C
o* solves for C and states function of y=x"+5-4
(b) | ans p=7 (1 mark)
o' subs point and solves for p o' p=3F+8-4=7
4(a) ans. P(3,0) (2 marks)
o’ knowsto make function equal to 0 ol x®-x2-5x-3=0
e? solves for x and states cords of P o’ x=3;P(3,0)
(b) | ans 2y +3x=9 (1 mark)
o' subsinfo into formula for straight line o' y=-3(x-3
(@) ans. y-11x=17 (4 marks)
o' knowsto take derivative ol % =3x%-2x-5
o® substo find gradient o> 3(-2)%2-2(-2)-5=11
¢* substo find point of contact o y=(23-(-2?-5-2)-3=-5
o* subsinto straight line formula o' y+5=11(x+2); y—11x=17
(d) | ans Q(-1,6) (3 marks)
o' knowsto usesim. egs. o' evidence
o’ solvesfor xandy o’ x=-landy=6
o® gates coordinates of Q ® Q(-1,6)




Givel mark for each e

[llustration(s) for awarding each mark

5(@) | ans. 143-3gu's (2 marks)

o' knows how to calculate answer ol 0:92* x 200
o answer o’ 143-3gu's

(b) | ans. 135-8qu's (3 marks)
o setsup recurrence relation o' U,,=0-92°U,+32
o repeated calculations to answer o? 175.3[4fter 4 hours]; 157-6[after 8 hours]
o® repeated calculations to answer o3 144.9[after 12 hours]; 135-8[after 16 hours]

(©) ans. yessincelower limit is80-8 (3 marks)

1 - - - 1 _ 32
e~ knowsto find limit o L=
o® findslimit o> L=112.8
o® realises lower limit is less than 100 ¢®  brightness would fall below 100 since lower
limit is 80-8

6(a) | ans. proof (3 marks)
o’ cross multiplies and multiplies out ol Kk(x®>+4)=x%-2x+1
e bringsto LHS o2 kx®-—x%+2x+4k-1
o® rearranges as required o (k-Dx®+2x+(4k-1)=0

(b) | ans k=2 (5 marks)
o' gates condition for equal roots ol b2—4ac=0for equal roots [stated/implied]
o’ satesvaluesof a, bandc o° a=(k-1);b=2c=(4k-1)
o® substitutesinto b*— 4ac o 22_4Kk-1)(4k-1)=0
o* multiplies out and simplifies ! 20k-16k°=0

olves for k

5 -5
° k_4




Givel mark for each e

[llustration(s) for awarding each mark

7(a) | ans. proof (3 marks)

o' finds expression for length of shed o lengthof shed =3

2§ oSS ' 2 — 3)_

o finds expression for area of g'house o A=(x+3)(4+5)-3

o® smplifiesto correct form o® A=4x+3+12+2 -3 answer
(b) | ans 15 (5 marks)

o' knowsto equate derivative to 0 o' % =0

o’ preparesto differentiate o AX)=12+4x+9x

o® differentiates ¥ AMX)=4- 2=0

o* slvesfor x o’ 4-9=0 x*=92;x=3

®° justifies answer o° \ / or other acceptable method
8(a)| ans. proof; k=10 (3 marks) V6 V15

o' assemblesfactsinrt. triangle ol 3 A

2 . . 2 . _ ﬁ
e findssinA ° SmA_JE
o® rationalises denominator & states k o3 6,315 _410.4 -9
15" V15 5

(b) | ans. proof (83 marks)

e’ knowsto change cos2A ol Ccos2A=1-2sin’ A

o subdtitutes o2 1-2(30)2

simplifies to required answer

3 _ 10_1_4_1
e’ 1 2><25—1 E=%

Total: 60 marks




